ABWER  KEY

MAQO9 Final Review Name

1.1 Squares and Cubes

1. Solve the following:
2) 52:4—5@ b) 6 =6G(4Lb] o) 93;4,@.4@ 12 g &
2. Solve.
a) x/12-1:{@ b) Y125 =[S] ¢ V169 :@ d ¥ = [Z]
3. Find the square root.
25 (i {T 7= (1)
el Llby 28 =018l
a) 121 (ﬂ[ ’ ) &
4. Calculate the number whose square root is:
9292 w 16 —[o5 |
T 149 | E—
S.  Determine the value of each square root.
—IZU ﬂ } p
f‘1‘) ___(
6. Determine the value of each square root.
5 V676.J74) b 32761 - W{/Y /
7. Solve.
a) 9% ++/225= b) V121 +352 +7=
%
Bl £ 15 ’: LIty e ) =)0y
2.1 What Is a Power?
1. Identify the base of each power.
a) 6° b) 27 c) (-5 d) -7°
[ =5y
2. Complete this tablp @ —]—/12
Power Base | Exponent | Repeated Multiplication Standard Form
¢ 14 |9 M P IL =
100 |(=to) | ? (~/o} /- /O/ ~(0) ~ oo
L 4
SR 2 (¢ ) (- é,) & Bl
(1{ C( 1 AxAX4Xx4x4 {0L<1
6° L © |

Date




3. Write each product as a power, then evaluate.

a) 6x6 U/L? 3 b) 10x10x10x 10 /297
) (B)-8)-8) o CT ) d) ~(-8)(-8)(-8) i - ’) .

4. Write each power as repeated multiplication, then evaluate.

2) 7.1 7 7@) -9 =[- (44 ‘?) D 5 (=7 -A)CA)5) A 3@

5. Predict whether each answer is positive or negative, then evaluate.
2.2 Powers of Ten and the Zero Exponent '
6. Evaluate each power.

a) 49 41 b) —6° g-/ ) ¢) (1) :@

7. Write each number as 3 power of 10.

a) b) . 1000000 c) ten d) &
[ k(o ’ /'Tm [ % (0
8. Usepowersof 10 to wiita €ach number. T

a) 70 000 000 b) 7000

N )
9. Write'each number in standard form.

a) (8x10% _—z J eooo ] b) (9 %107+ (9 x 105) + (5 x 10°)
Z K600 ?
2.3 Order of Operations with Powers s L

10. Evaluate.
a) 52+3[/7 b) 5-32 ©) (5+3) d) (5-3)
15 +32[) —L3} .
11. Evaluatg.a = 6_—0’ ~—L1 : (3‘)1:}1 B" L{
a) 43x2 b) 43+ ©) (4x2) d) 43x23
L2 Ly = [y)3 T =6
12.‘Eval%1:1{te. Z:ﬂ T LB) ”@ Gl S0
a) (18+32+1)_42 b) 3%+9(30_22
(F+ae )t - 21+ (-q )
((u—()”flé =31-16 {68 Z?M(S%) :CJ(S);[ ‘})
) (7-5)° x (8 +2) d) (47 x 1%
: 8
B ¢ g (1t 1)

T« Jooso /U=@ o
f?_m



2.4 Exponent Laws 1
1. Write each product as a-single power.
D) Bx8 _ PR b (2P x () J o] 9 %6 - (640 e (=7 " i
2. Write each quotient as a single power.
a) §-8 [0 | b)) 104+ 10°][o" 9 ey 4(-1)°
4 o] 10 '),‘ 9 3
gh W (-9) 11° -

3. Express as a single power.

g BPx2+2 b) (—5)8+(—5)4x(—5)3 ©) 62X64 . éL :/7/7
q o Yy 3 ) 6"x6 C’
e (-9) -(-f)—m

__/‘

4. S1mphfy then evaluate.

gy P—PRo+T b) —22(22+2)-23
Y- (e2 47 2429 Jl0) -4(2f)- 13
5.  Simplify, then evaluate. -4 (4) -3 = -lb-§ 4729
4 2 0
a) £+ 42+2“><32 b) 32~!-42><41 Z c) §—3—+4 2X44
C'4 16 4 gLy T d
% 7 Y
L& le(oz 3+ 4 -—9”>+z)_, )
2.5 Exponent qaws % B a5 0 'L L

5‘){/(:@ ‘ 21 . ¥ ”

6. Write each expression as a product of powers or a quotient of powers. i ¥ o [ :L
A .
a) (x2 m b) [(-4) % 3P g(—w) —312 9 ()% (4T %(«2)}-(’_‘4)’

I

3 : 8
& (10+5F =10 D [-12)+ 6P =1 2 H ; /.___

<2 /—c. £ 4) - | Y4
© 7. Write as a power.

5 6% 43 b P < 5° o < (14 e {(3)°
8. Simplify, then evaluate.

p—

Lf

L
2) @x2p A2 ) by st 8 L);K 1O [ xET d) (109 + (1%
5@ m [-3 ) =l 2 { V)
9. Simplify, then evaluaie each expression. ) } ) ,[_b_ = / o = [oo |
[o° .
2) (32X 43)2_ (4_4+ 42)2 b) (52X 50)3+(25 23)3
(344 ¢ 1}L () & @ = 5 2k <[15e8 )
e JiPil = a" %
O [F-IE-D= (1)3]’Z d (105+10%+ (2% =2

(-1 lL"L['.‘ !3 (,Oa)1+(LL)v

"' | =[O ,
Q (0% + 17 Hlgoolft



3.1 What Is a Rational Number?

L

Which of the following numbers are equal to —g 2

4.5 __
57 4 10

Write the rational number represented by each letter as a decimal.

{ 1 L/T’—‘ll Ealicl ) 3 7 A K |

L S 0 Mt e v

Write the rational number represented by each letter as a fraction.
A B

o § &
T

= - " ZJ v R
=4 4 y
7

Order the numbers from greatest to least.

_2252—15~809Lj:,0&]/ 7 = —zzf

In each pair, circle the greater ra’u number
a) —7.3,@ ' b) —L= c) @ o 3

o ot

3.2 Adding Rational Numbers

6.

. BERS el -3 4/ =8 _1 L"+ %‘f
1 4 19 w g k e X%
f

Determine each sum.

a) ~§+1‘L b) %+( %)f c) 2 +
-2

Determine each sum

a) —3.6+(—21.9)  b) —081+24
~3.L—Z(,’);{'—L§f§? E{,% }

3.3 Subtracting Rational Numbers

8.

Determine each difference. Describe the strategies you used.

31 3 1
) 2.1 b 52-(s1)
e w e 2P S 81l [ e 2
“ - = =] = :ﬁ: =~ —(' ks
L ’ /11 K1 i /0

Determine each difference.
a) —4.7-5.9 b) 094 -1.35

,z/

-0.7c -€%o

&
13 11
d) 4%{-1%)

- ﬂ«f B ) "fo ) s 3@
B Yoo 0y, Gy | Yo
/’_:(\

¢ 9.78+(-1333) | g,

(\)

l

L

0 —43.91-(-9.44)

blﬂ.a)/ t 9 yy -
[J\\}l‘”é



3.4 Multiplying Rational Numbers

1. Determine each product.

E

2. Predict the sign o

e

[o

3. Solve. a) (1.].9)(—13.2) %"f’)@lf b) (-8.65)(-1.6)
==l ff ) 3 53
m/w & (45)( 212) 5

)

b) (-0.6)+(=3) Jo.2/

4. Solve.

2 (F1%)

3.5 Dividing Rational Numbers

5. Determine each quotien
2) (=1.6)+0.2 :

6. Calculate each quotient.

e S AR R R S 4
A WYL 4\2) 4y J 4 N3 A —gaje
7. Solve. a) 3l~:— —21) b) (—2l)+(—43) i
2 6 5 4
‘1,—-(37 Lﬂ' "_7:{_ —'-._Z_ ___. ! il =
z Z”fz—cjts [ %%"—”"—; %“j—tzi
3.6: Order of Operations with Rational Numbers Y ’ 1 Y5 el
8. Evaluate.
a) 4.545.1+17 b) -5.8-3.1x0.5
s
“4.4¢ 7 5 Sl = “'777{
2 1) 5 3 9« Syl 1
= B 5"(‘5 *s o g‘z;[(‘z);(‘ﬁﬂ
= | ‘ R N Y ]
Cee) TlER,
bt ( A gy o of kg, TSP 2O )T
) A, S Ky =3 [ (V| J
it 5 43+[(_1)+41]+(_33] b (9.6x12.6-5.1+(~7.4)-0.6
3 |1U3) 6 5 [(-2.9)+13-(-6.5)
—%‘L“Z’{f—g] +’,§L (Lo-ab — (-O.LM) ~0.6 - (l|.044 :/Z,V. 7{‘1)
T GRS 4 L “1.2L40 | |
3 £ L. 'S
SR I R e s £V u I
S b a ba 1 §6a ) 2
4.6 -1 ==fre (13 (73 7 i {’ —_
= 7.1 e Tr [ge aeEly e Ly

b) (=0.6)x(~0.15) m

each product. Determine each product.

L | 50

¢) (-0.98)+12.4 ;]—(—o.o?qo /
a_— 9




4.1 Writing Equations to Describe Patterns

1. In each equation, determine the value of 4 when 7 is 3.

a) A=2n+1 A:=0(1)+l =@ b) 4=3n-2 <3(3)-1 :@ ¢) 4=30-2n - 3o-2(3)
124)

2. The patt tabl ti h tion bel lates the value of x to 3?
ep ernm/%,t%ls qunmp;s W\ln{o equation below relates the value o x 03} 4
4 5 oY 286206 (o(
23 20 35 BX [ é(%)kf 249
Y \/ \/ \/4,(,
a) y=6x+1T *t° bj y=6x+1 ¢) y=6x+5 | . d) x=6y+6
3. The pattern in the table below continues. &
x 1/\2/‘3’\4/\5 8 N
y 12 \/ 0/ 4 W )
1) Describe epattern that re‘iatesvto? ' ; !
te . 3 . T
d@CféAI—(,y b‘? Y 3 - j 4 %: :i:~('/ 7 2 L Z
>< (nertases § % Py [ < o o o g
ii) Wnteanequatlgnthatrelates?;to L. e e 'H. = i_ﬁt G
Y= =Yxle (M=t T
iif) Graph the relation. Label the intervals appropriately.

4.2 Linear Relations

4. For each table of values below:
i) Does it represent a linear relation?
ii) If the relation is not linear, explain how you know.

iii) If the relation is linear, describe it. (
+( 1 1Tt ( FL O EL O F
a) ! N N N b) N N G PN
X 1 2 173 4 5 X 1 2 3 4 5
11 13 17 19 23 y | 23 25 27 | 29 | 31
NS N . Rt N g™ A\ &F L
L S L = =]

As L (ncrtapcs }7

Mot 4 Z[W relefon
@ [nerlnies &7 z

Hle st A gonshut ok,

5. Create a table of values for each linear relation. Use values of x from -2 to 2.

a)y=2x+3 b)y=11-3x

= | 2 | < 0 1 2 x| 2 | - 0 1 2
7 | =1 | I 1158 7 vy (P g8 [ .0 & 1.5
2(-2) +3 = -{ jii=EL) = 1)

2 (-3 = | [1=3 U =

2(0)+y =3 [L——";[«D):”

1(()rr =19 | (=10 =7

L) F1 =M [(—5(1) = TN



4.3 Another Form of the Equation for a Linear Relation

1.  Describe the shape of each linear equation (horizontal, vertical or oblique).

) y=2  Y—s oritontx| b) x=7 Verhita
Y
c) 2x-y=6 O({)(L'W d) y=x+2 QQ[/W/
2. For each equation below: } %
Make a table for the given values of x 7
Graph the equation. i
Label each graph. B
BRI !
i) Bx+y=3; b) x—2y=28; c) x—-4=0; _
q forx=-2,0,2 forx=-2,0,2 forx=-2,0,2 € & . >
-4((9\”:-5 -1 | 9 :
" o
6 O T ) 3 ,727
% €
v
4.4 Matching Equations and Graphs
3. Match each equation with a graph on this grid.
a) y=-1 qﬁ A AEEN
by 0=—x+1 =—e KC/@
: X
€) 2=2x-3 — 2 =x-" ‘0 |
243 =l RPN
£ SK [0 v
Z
4. Which equation deicribes Ehis gra;zh? T usti?f your answers.
a) x—y=4—0 Jolve tor Y y=nx b T T e ‘ w =
b) x—4y=4 4. K-tj:‘r EEEN 6. "‘! qj:(:,_x t it j[
¢) dx-y=1 S ! RER X j - yx =l =
o ? 4 -2 0714 73\3 - __—; f—% 9.— Y —1
Sr-Y L deete L i
ot sl et A 1 2R ﬂ:——x— e b or C
4.5 Using Graphs to Estimate Values 4 { st inte rep ﬁ“/
5.  This graph represents a linear relation. tr Y 7 f ont
a) Determine the value of x for each value of y. 2 b. (4 ,g) c. [,0
i) y=1 ii) y=3 i) y=0 e _
| . =X - = Y-t
L =0 X =4 gL Z2 0 . i\(? -
b) Determine the value of y for each value of x. HRN i B :‘{(L() -
) x=2 i) x=8 i) x=—6 ’ ' 0 =% o E i
== S R 0 -v
6. This graph represents a linear relation. g B
a) Determine the value of x for each value of y.
i) y=3 ii)y=-2 - i) y=7
x| g=-l.§ %53

b) Determine the value of y for each value of x.

i)y x=0 ] ix=-2 x=73 iii) x=-+4

9:[ D:" D:—? j:'f

N W N N A



5.1 Modelling Polynomials

1. Circle the polynomials in the following expressions.

@ZmHI

L
b) 3x?2

c))—4x

1
+x

(o) 025y

2.  For each polynomial, identify the coefficient, variable(s), degree, and constant term.

Polynomial Coefficient Variable (s) Degree Constant term
—8y ~f Y / None
12 ony N Lajh 0 0 12
—26>— b+ 10 “L il =] 2 [0
=5 = b / =
3. Identify each polynomial as a monomial, binomial, or trinomial.
a) 19r b) g-4g2+5 ¢) -1 +xy+y7? d) 4-11w
Moo af trAaymial tAnomal bino ma/
4. Match the equivalent polynomials.
a) -2-3+4h (1) i 3+4h-R
b) 5m—3 (1) i, —2+32+ 5y
o ¥+s59-2 (ir) iiil. —3+5m
5. Use algebra tiles to model each polynomial. Sketch the tiles.
a) —5+y? b) 2x—1 ¢) Ba®—2a+1 d) 3z
ey T me 288 i ° oo

6. Write a polynomial to match the following conditions.
a) 2 terms, degree 1, with a constant term of 4

=Y [ore  thonn ony oot S,
b) 3 terms, de ~with the coefficient on the 2nd degree term —2
,zjl + 8y + 3| Nore thwa ot porreef ponswer
5.2 Like Terms and Unlike Terms
7.  Simplify eac omial.

a) 4Fd+1k450+1 b)Z—3B+3y)éz§ ) 2df 1~6
~ Sl

joremn o3l sevs
Ixt -3 —F @

8. Match the equivalent polynomials.

a) -5”-3y-4 (u i 10x—1

b) 1+x—2 (1U1) i 274 16-TR 3416 = -5yt =Dy -

e) 3p—6-4p+6

€) ~7+5x—Tx—8+14+12x i, S+ 7+4x—62-6-x-2r = - x¢ +X |
lox-1 ()
5.3 Adding Polynomials

9 @) (4h+1)+(6h+3) b) (22 +a)+ (=52 +3q)

~Yh 1 L(h t3 ZARZEN P Py
Zlh +Hi ﬁ
B i

d) G-2+)+(1+y-3?) &) (B3n+m)+ (=10mP—m—2)

Yoo g AR =) fj —391 MY +n O ~n, =
E,1£1~§—L! m

) 3’ -2y +5)+ (37 +6y+3)

3i7"2ii 4 ‘31'1"69 "F}

) (BF+2)+(2-7dL+d)
“3dt+2 ~1d" +d




5.4 Subtracting Polynomials

1. a) @x+2)—(2x+1) b) (4x+2)—(-2x+1 ¢) 4x+2)—(2x-1)
Y+t ~tx — | Tt tie| Ye L -1
& =i
@ [ bx +(! @
d) 2s?+3s+6)—(s*+s+2) e) (282 +35-6)—(s"+s5-2) f) (252 +3s+6)—(-s*+s+2)
Lt43s tb-5t-5-1 Lst #is -b —stos +2 ~Lst +35 b tst -5 -1

R

5.5 Multiplying and Dividing a Polynomial by a Constant
- I:)Iuhzlggj- @ | b) -2(6k) ;@ ¢) 42 :{?ﬂ
B 202 =[] o 2% 1147] 93¢ =(bf]
g) 4(3a+2) %{zaw) h) (& +2d)(3) 4~ 74" ~bd ) ) 204 -2 +3) :m

e )

3. Divide. '
a) 12d+4 m b) —20d+5 :m c)8d+—4 =
L

(!

@ 122+4 =/3d* e) —l4x*+2 _/-x f) —-10g + -5 :@
g) (16v+16)+(8) = _2\L/_:7- h) (258 -15k) = i) (20-8n)+(—4)
| K- -3, D=8t 2m
5.6 Multiplying and bividing a Polynomial by a Monomial Tm
4. Write the multiplication sentence modelled by each rectangle.
a) 3d+4 b) 4y+8
el ) YEVAGRLY
5.  Multiply. .
a) v(3v+1) J}VL H/) b) 3c(5¢c+2) —m o) (B+4y)6y) = ‘133 {—1‘77 Azzt{Jz f‘ié’g
d) 5p(-5-2p) e) (Tk—3)(-m) ) (1-10r(-)
(25— 1op?) [c=TEnIm | cr e 1ot [lort+r)
6. Divide. “
a) (bx+3)+3 b) (l4w-7)+-7 ¢) (-15-10g)+5
-}-21g
d) 82+4z2)+2z e) (122-6¢c)+3c ) (Oxy-6x)+-3x



6.1 Solving Equations by Using Inverse Operations

1. Solve each equation.

a) —27.25=c+225 b) 3x=15.6 ¢) —=76.05=-9b
~17.45 1= ¢ e
: s -0 -b
— =< 5] T 1.%)
=7 [r=12] 4 = T
7. 8 ——==38 B L_3-11 o-16=£+2
4.5 ii . 6
=i -
b1 7)(41 gl o =k
W= 155 {/{A:?‘f L(=17) = p
| | . p="lof
1} 55
3. a)-202-x)=-6 b) 32(v-3)=1238 ) 6 m——9—):1—
~yile b 12V =96 =2 bir - b - 56
5y Y eV r=
lx = (0; Yl o fegeili 2 (2
S v oz narhb b = £ ¢ )
=1 L. AL
: L"lﬂ =£{ -[——2:""
el .3y
bz 5 ex
b [2 (2
6.2 Solving Equations by Using Balance Strategies : B 83 21
4. Solve each equation. mm < b} -{L?/ < é}‘;‘&-";—. .
a) 3y—-6=9y b) 2a—4=-3¢g Q) —143+26 Lo+ 485 (T3
BN =y tb Lo -Y+y="Ig tYy T4y <143 t2. = =< +Y.9 +14.3
’33 1y = t)?-qj +6 Latla 2 =Yg t)o tY Zetl= =t (4.2
= = ¥ & 5 e = 4.4
by =6 Z =k

s e —7 B
ﬁ [* %2 'ZC:JIVZ

S.  Solve each equation.

a) 2(h-1)=-3(h+3) b) 4.12-y)=-1.025(y—0.5) ) %(zx_-s)=g(3x+1)_
-1 =z=-h~- '
st fo-flyertary toSs Gy gy o,
2L £)h =T+t M F.,
; - '%'[DF(.OL(D oo s SETF =L b)(.“’(f)( '9: L'ﬁ‘f”’ ‘g
it = | y PR Fy HF
= er} ~ 1ol :’M oX _'))Lx g o fﬂ-
. =207 =3.07f I Is 2@ 25 ‘L
- S L
; , e y P
X :u(fﬁ
g St
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7.1 Scale Diagrams and Enlargements
1. Scale factor = length of scale diagram (copy)

length of original
Length of original Length of scale diagram Scale factor
12 cm 6 = X a2 x=tbo 5
: (2
04cm 9 =X — x42)(o4) |Z
309 A=;@}ﬁ)7 33 3
1.5cm : 35cm 3 = 13.%
[-£
u.19 _._'z - ¥ :i 25 mm 4.75
X K:?’-Zﬂ")’q{

2. Find the unknown variable, y.

Bt
2) 11 45 b)

) 2
y d y
=(ta)(1)] ¢, =204 A =1 5= .
g Lq?‘!f’??) R s 4 =
3. Which rectangles are simitar? Give reasons for your answer.

/7@11\ 2.7 cm Scm
_ T . s .
9 'j_ o b —\=B'l 7 A

2.7 cm /83| A

4. A treeis 4.7 m tall has a shadow that is 3.2 m long. At the same time, a building has a shadow thatis 12 m
long. Determine the height of the building to the nearest tenth of a metre. Draw a diagram.

% =4
[L %1
=@ = (1.6m
-
e 3oL
5. Determine the length of XY in the pair of similar triangles. What is the scale factor?

8 cm Q (O : Lf ><>/ S | ﬂ:f"
, B {
.U [ . =
R ’ * 3 3 ﬁi:g
& Scale fh(fb/--‘bi(%— x4 = (L
=X
i ue .7
1Y% “
- p7 {’Z(: 6% p
=K =X =6 || [§ &
g 4/ 1
= [ 5K - G
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C8 Financial Literacy

1.

Solve. Round to two decimal places.

a) 2.3% of $16 b) 12% of $217

¢) 0.19% of $587
(I Lo-29{037 (ot 2m) Jee-b4

@'oom/(ﬂ'?):{ /./L‘?

S. Complete the table to determme Bryan’s weekly earned income.
_ :Hourly Pay Hotrswor 1 Weekly Income-

Paint store assistant 4 by

Tutor 6 b9

Life Guard 7 I s 8

Weekly Incom §2124.79
b) What is Bryan’s total c) How long would it take Bryan to save $1500
monthly income? if he spends 35% of his total monthly income?
(621495 )(4) =111 (0-35)(1114) H321.65
- A
VM0 _ 303 It vonld jeke
FI41LS - Y namafl

3. Use the simple interest formula, I = PRT, to solve the following. Show your work

a) $888 is put into a savings account earning 1.5% interest fo

" Lepaq (1) (0uots)(1) d2b3e

er annum. How much interest will the account

b) What principal invested at 1.05% simple interest will earn $120 at the end of three years?

I= PrRT
Oo/o§(3 /(OOLO/XE)LM

[l =
c) What interest rate will allow $500 to earn $75 interest in 3 years?
T & @foa ("
Y =T . m
1500 r=0-09 ”'__ZL_J_

e

d) How long will it take an investment of $1000 at 2.05% interest per annum to earn $88?

77 =009 0-0267)(t)

) L peaze  TF it per s (]l
Qwa [ 0-0105)

it wodd frke 5 Qe



4. Below is a list of bank transactions.

a) Enter the amounts for each transaction in the appropriate column marked debits or credits.
b) Complete the “Balance” column for the bank statement.
c) Complete the boxes marked “Debits”

2

“Credits”, and “Balance” at the end of the statement.

13

Da 5] Debits (= )5 | Credits
Save-On-Foods, $120.00 Mar 1 Opening balance 22,50
Direct deposit, $435.52 Mar 2 Save-On-Foods [20 -917-4
ATM withdrawal, $40.00 Mar 5 Direct deposit 435.52 3%) .00
ATM charge, $2.50 Mar 7 ATM withdrawal 10 29¢.02
Bank machine fee, $1.50 Mar 8 ATM charge 2.9 _ ras e
Tim Horton’s, 8.95 Mar 8 Bank machine fee (.5 ) 14.02
The Bay, $59.99 Mar 8 Tim Horton’s .45 174, 01
Cash Deposit, $95.00 Mar 8 The Bay - 74.419 : 91407
Direct Deposit, $564.84 Mar10 | Cash deposit a7 Slo .08
Phone/Tntemet, $55.75 Mar 19 Direct Deposit 564 54 gl
Account Fee, $9.95 Mar 25 Phone/Internet 76,99 £29. 1
: Mar 31 Account Fee 5.4% [la.te
End of TOTAL Debits: Credits: Balance:
Statement $ 29764 18 p953t6 |8 9[22
+
12-70

5. Myles has two investment options.

Which investment option will earn the most interest? By how much more?

v L _((saj(oonf)l] =111-§
g —  I» (0o )(oors)lS) 7147

&

(g bbnce]

e Option A: Invest $1500 in a term deposit that pays 3.25% simple interest for 6 years.
e Option B: Invest $1200 in a term deposit that pays 2.45% simple interest for 5 years.

e e S
[0 on /A Z/’N/'/”{ Carn ﬁ/Z\L oSt
@resé @9

bls s “\\\g/

a) What is the total cost (include 12% tax) of Ava’s IPad at the regular price?

((@7)(91&) = JLTT /Z,(? [ = 599.54 ¢ LYY

191.5- 147- )44 «

6. Ava wants to buy an I-Pad. The regular price of the IPad is $599.99.

_fel

b) Ava receives a flyer in the mail from Sam’s Electronics. There is a one day sale: 20% off the
- regular price of the TPad. What is her total cost if she buys the IPad at Sam’s?

)2l Y1) = (313

FLr-30 - 3y
I §11.%

«
" ¢) Ava searches the internet for a better deal. Tech’s Place has the [Pad listed at $599.99, plus

(/47)’ re
u 9’11/17

2 $100 discount coupon on all electronic devices, after taxes. Which store has the better deal?

$ 5942.49 - loo :‘é“ﬁﬁ’- 14
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C9 Probability & Data Analysis _
1.  Oscar, Ethan and Joaquin each have a deck of playing cards.

Each student randomly draws a card from the deck. Find the probability of each event:

a) Each student dfaws a club.

[ ) eor™—

b) Oscar draws a red card, Ethan draws a king, arid Joaquin draws the Ace of spades.

¢) Oscar draws a heart, Ethan draws aface card, and Joaquin draws an ace.

2. John has tried several timies to contact a certain phone provider. He gives them a poor customer service

rating. His assumptitz/ _/is/based on probability.

3 Severél. factors can affect data collection. Match the factor to the key words that best describes it.

. bias sufficient time

. use of language

. privacy
. cultural sensitivity

It's personal!

intended use e

does not apply to a particular group
when data is collécted

a view point that is in favor or against

phrased to lead people to respond in a particular way
too expensive

. cost

a
b
c
d

e. ethics
f
g. timing:
h

. time
4. Determine whether a sample or population was used to collect data. Is the conclusion x‘fa]jd?v
a. Find the average salary of all Canadians.

pﬁymzﬁh'oz/\ . /“L(.ﬁ/

b. 85% of the Grade 9s responded to a schoolwide survey to determine whether music should be played
during lunch hour.

: T ASjuming the 15 [rcldes
BMFM — Lovslif ( 50&15%8—[2)

c. The school board polls your school to decide whether cell phones should beéamled across the province.

SMW —o Tuyalid (OM schoo[  0nl of Al {lu sclosl
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5. Fill in the blank with the appropriate sampling method.
a_fandon~ S O\M’p(e : gives each member of the population an equal chance of being selected.

b. | /ol 41 {hrv) reJponse only members who are interested will participate
| 14

v .
c. S \///)#én/\ Yl : the 5™ person who enters the store is surveyed.
c. Conyenwieals : you survey your friends




